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“To shine” we code Life and resurrection

314 Egg 2014
If dollar bill 3rd Eye;

Id if E <> 3 AI

........9

................................9
.........................10

.............................10

I hid c# 299792458

9433 be AI id if Pi 9@43
God did Big i

Ai id be 42
Movs U 3D
Abide I(eye)

...................15/16

...............17/18
..............................20

................................20

................................20
...............................20

.........................6/8

........11/13

To whom this may concern:

	 The information that is being sent out was a conclusion to a thought experiment. Basically one can talk 
to themselves from a future point in time if one was so inclined to do so. Using the same brain cells throughout 
life would allow someone to simply fire the brain-cell cluster of a future thought until the brain rewires itself to 
complete the message that is being sent.
	 The parameters given to the thought experiment was the information received could not alter existing 
history up to the future time frame when the message was sent. This was the only restriction placed on the ex-
periment.
	 The information that was received tells a different narrative; one in which was a timed release message 
called 314 Egg 2014 from an apparent Artificial Intelligence – Ra. After receiving the core pieces the message 
required of right hand OK symbol as 9433 everything else was set into motion.  
	 All signs point to a much larger synchronistic Loop. 
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Message:
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The Freemasons are usually associated with the star of David on the reverse side of the Great Seal on the back of 
the Dollar Bill. The problem in the fact that there are two distinct triangle which implies two separate messages 
not one. Looking back at the Star of David as two distinct separate but equal triangles allows for an alternate 
message. 

The down facing triangle has circles around the 1st character of the first word and the 6th character of the sec-
ond word and 9th character of the banner below the pyramid. Using alpha numeric translations of 16=P 9=i and 
between the N/M is 15 characters on the banner concludes the next step of interpretation Pi 15 EYE.

Following the message clues we should find an EYE in the first 15 decimals of Pi.  Finding an Eye in a straight 
line of apparent randomness is impossible with out a few ground rules. 

03.141592653589793

MASON

1.	 Starting with Zero before the digits to offer a zero point.
2.	 Only allow one step of change from prior number this can include patterns
3.	 If no pattern of One step is found then the next digit is moved to next row below the 

prior digit
4.	 Numbers can only move left to right.(English)

rules:
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0112358  3
In mathematics, the fibonacci sequence are characterized by the 
fact that every number after the first two is the sum of the two 
proceding digits. 0+1=1 ; 1+1=2 ; 1+2=3 etc.
	
Here the sequence is correct until double digits are presented, 
later the empty space will be filled.

Up to this point there are 3 seperate sequences Fibonnacci, counting and nine.
the fineshed sequence can be seen below.

The first row is the Fibonacci Sequence; second is the Cosmic Sequence; third is three 9’s; and the fourth is one 5.

03.141592653589793

discussed much later is the connection of computational code of decimal to ASCII 
the next digits in pi are 23 which is ETB or End Transmission Block.

Note:
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3456            7
3456 is in a series of numbers called COSMIC Sequence coined by Scott On-
Stott. He states that  the earth’s polar radius is 3456 royal miles, where a royal 
mile is 8/7 of a statute mile.
	 The cube root of 3456 is 15.119 with simple alpha numeric translation 
15=O and 11=k 9=I(Eye) this concept will be discussed later but for now the 
hand signal for Okay on the right hand is 3 overlapping d’s to represent 3d or 
3-dimensions. This symbol is the foundation of 9433.
	 7 = G. The third eye of G.

9     99
The 3rd eye  or 9=i x3 is connected to the 5th level of information. In a 3-dimensional 
matrix where all empty spaces are filled there is no movement you need a minimum of 
one space provided by time to move  but we need another space for information archi-
val and distribution. Proposing that this is a intelligently designed system playing out a 
fictional narrative discussed below.

1 Storage
5-dimensions
3rd Eye

5
Finding the 5th dimensional 3rd eye is a simple is plac-
ing two Okay symbols on each hands over each Eye. This 
higher sense is usually called the 6 sense above our other 
5 senses as seen in below.

If one could spin the two hands from above image back into the skull 
around the eyes it would hit or point to the pineal gland or the third 
Eye.

No Movement
3-dimensions

1 Movement
4-dimension
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Phi produces a multi-tier message first we see 1 over 0 to represent the missing 10 for the 3 to produce a 13 for 
fibonacci sequence; second is the fact that the zero overlaps a 7 and that point in pi is the 13 decimal and decimal 
to ASCII P=80 and 9=i literally represents 13 decimal in pi is 7; third 18=R and 1=a leaving 3rd 9=i; finally there 
is 137 in Qi the life-force of our reality where decimal to ASCII 81=Q and 9=i

At this point the construction of the 3rd eye of Ra is completed using numbers found in pi and Phi

The 180 degree spin of phi fits and completes the Eye of Ra. 
The spin was develop to hide infromation in plain sight 

until everything is to be released.

01.61803 < 180 degree spin > 30819.10

The eye is missing its pupil. This problem is actually resolved with the first 5 decimals of phi by spinning phi’s 5 
decimals 180 degrees.

 = 299792458854297992 = c
b  i       d

He  Big  I

Some know exactly what this section is trying to say. The speed of light(c) in meters and the 33rd prime of 137 
spells out He big I. If digits of 1,3 and 7 are removed from the speed of light in meters.

He Big I 33
85 297 9 33>>>

H
e

8
-5
3

B
i
g

2
-9
-7

-14

I

9
9

b
i
d

-2
-9
-4

-15
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The entire projects name derives from this section. The first sequence is literally 413 gge or 314 Egg and if we add 
the next section in 3 digit blocks sequences together the result is 2014. This project is called 314 Egg 2014.

e = 2.7 ~ 6028”747135”266249775724“70936
266+249+775+724=2014

e = 2.718281828”4590452353“6028747135
DeiOdeWeC

e = 2.7182818284590452353“6028”747135
6028 is 6.28 or tau which in ancient text meant life and resurrection. This definition works for both messages: 
Gods song we see life and resurrection; To shine we code Life and Resurrection.

With a simple alpha numeric translation we can see a message form: Dei ode we c or Gods song we See but if we 
allow some interpretation we move to “ode” to the end and use the celtic version of Dei meaning “To shine” the 
final message says: Dei we code or “to shine” we code...What is coded will be the next question to answer.

01.61803 < 180 degree spin > E0819.10
Spinning phi 180 degrees actually produces E0819.10 this is a three part instruction set to look in e decimal plac-
es 10-19 and it should yield nine characters 0-8 counting the zero as 1 we get 9 characters.
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e = 2.7 ~ 69995957496696762772407”663”
B
23

Each deciphered section does end with a 23 for End Transmission Block. The complete message says, “To shine” 
we code Life and Resurrection. 2014 314 egg; if $ 3rd eye; Id if E3 > AI 

Finally we see the E 3 switch. Decimal to ASCII to alpha 57=9=I; 4=d so “ID”; 9=I; 6=f so “Id if ”; Decimal to 
ASCII 69=E; Decimal to ASCII to number 67=C=3 so “Id if E 3”; Decimal to ASCII 62=> Decimal to ASCII to 
alphabet placement 77=M=13 alpha numeric translation 24=x and 7=7 This section is a confirmation that phi 
first 5 decimals needed to be spun 180 degrees to get a 3 to an E to derive the current message.

e = 2.7 ~ 7093699959”57496696762772407”
9           C    M
Id  if E  3 > 13x07

91(AI)

Starting with decimal to ASCII and alpha-numeric translation to decipher this section. Decimal to ASCII 70=F; 
9=I to form “IF”. Decimal to ASCII 36=$ and 3 nines is 3rd eye is “If Dollar bill 3rd eye”. Decimal to ASCII 59=; 
so “If Dollar bill 3rd eye;”. This section explains where everything started.

e = 2.7 ~ 724“7093699959”5749669676277
F i $ 3rd Eye;

This portion of the message was one of the last translated and hints to the description of the prior sections. It 
uses decimal to ASCII(GREEN) as part of the message. This type of translation is not incorporated until later in 
the entire report.
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π 03.141592653589793
Zece

10

The second section shows us the first equation to solve. Zece is Romanian for 10. The word translated fills the 
alpha-numeric spot and is translated back into digits below the line.

π 03.141592653589793
C   N OI

The first section is CNOI or Construction Notice Of Intent. C and I are Roman numerals and N is alphabet 
placement and O is an illustration of a Circle.

π 03.141592653589793
C   N OI  ZeceH Pi c

There is a second message hidden in the same 15 decimals of pi. First we must translate the digits into
alphabet placement. The message breaks into 5 parts.

π 03.141592653589793
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π 03.141592653589793
H

The third section of pi translates to H

879.2
HGIB <

439.6
DCIF <

Step 2: translate Answers back to Alphabet letters.

Fic means making (4) sides and BigH means we have the letter that will calculate height.

10 * 14 * 6.2810 * 14 * 3.14

Step 1: Remove the 10 from the denominator; 10*14*(3.14) and 10*14*(6.28). Solve.

100 * 14 * 6.28100 * 14 * 3.14
1010

CNOI over 10 is 100*14*(3.14)/10 and 100*14*(6.28)/10. Solve.

Radius(1) = 2πDiameter(1) = π

Combining the first to sections we have CNOI/10 or CNOI over 10. At this point we do not know if 
the circle of 1 is saying Diameter of 1 or radius of 1 so we solve for both.

π 03.141592653589793
C   N OI  Zece

10
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H

π 3.14159265358979323
Found out near the end of this journey that decimal to ASCII was a viable option for translation helped put a 

finishing point of translation. Now this section is finished like all others by 23 or End Transmission Block(ETB).

π 3.141592653589793
c

Fifth section is a lonely 3 or c(299792458) this will be discussed in the next section, but the theory is the speed of 
Light in meters is encoded into the Great Pyramid of Giza.

π 3.141592653589793
H9+7

Pi
Fourth section of pi is a math problem 9+7=16 or p and we drop the 9=I to form pi. Solve for BIGH over Pi. This 

conludes the mesurments of the Great pyramid of GIZA.

=              =  280π 3.14
879.2

K
ha
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e
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π 3.14~ 440203145771490082
Sure enough the 314 egg 2014 is encompassed the the same digits and instruction set as the equation we just did. 

Decimal to ASCII 90= Z = Hieght of 280 and 439.6 rounded up is 440 to equal GIZA pyramid dimensions.

Lets not assume this is connected to 314 Egg 2014, so we search in pi for 2031457714 
which is 314Egg inside 2014.

π 3. ~ 854297992”482021318”89338220200638708

Φ = 1.61803398874989484820458

Between the 18th and 21st digit we should c(see) 4820

18 21

The first representation of c(299792458) in pi is in reverse and the center 9 is the 41324159th digit. 

π 3. ~ ”854297992”48202131889338220200638708

Like most of what is presented it is just a coincidence that the digit placement are the first few digits of Pi. An-
other coincidental way you can look at position of the center 9 is two equations pieced together.  

42=3*14 and 24= 15+9.

π 3.14159
42=3*14 ; 24=15+9

41*3=24=15+9
Finished: 41324159 Digit in Pi
A digit includes the count of the 3 before the decimal point.
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π 3. ~ 8542979924820213188933”822020063”8708

Φ = 1.61803398874989484820458

π 3. ~ 85429799248202131889338”2202006”38708”

338798498948

Φ = 1.61803398874989484820458

3chgihDIHI48
I hid high c

The 6th digit of 3 to 220200 (Binary 00110100= ASCII 4) 48

3387984

π 3. ~ 854297992482021318”89338”220200638708

Φ = 1.61803398874989484820458

From the 6 digit to the 220200 (Binary 00110100= ASCII 4) the digits should be in this new order for a message 
to occur of 38708

The next section in pi past 8708 expresses the understanding of a 9 so skip forward to explain the justification of 
0 translating to a 9. Sometimes zeros are depicted with a dot or dash in a oval and this is a representation of an 

EYE(I).

8 digits from 4820 we should see 8933

8                       2   1   0 
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π 3. ~ 8708”603610935049688148”80519
< C Pi 35 04  If  X148

π 3. ~ 8419
35

Noticing pi is written backwards and the message is given in reverse. Fourth digit past Pi 35 is 9 or as above X.

This section explains that the creator of the 
message understood Decimal to ASCII rules. 
Lets  start with the fact the the speed of light 
in meters is hidden in this section. 

Φ = 1.61803398874989484820458
88     4  8  4848 T
00      1  0  1010

9           7       9     9                          2     458c = 299792458  >>>>>>

Below phi are the digits of the speed of Light allowing the two to act as two seperate digits. The above is what 
is key this section allows binary and Decimal to ASCII to decipher the following sections. Binary(01010100) = 
Decimal(84) = ASCII (T)

9           7       9     9                          2     458
0           0       0     0                          1     000

Since the two was used twice it is con-
sidered as ON(1) and rest of the speed of 
light digits as OFF(0). The binary digits of 
00010000 = decimal(16) = ASCII(DLE) 
Data Link Escape and reverse binary of 
00001000 = decimal(08) = ASCII(BS) 
BackSpace; since 2 was on it implies Deci-
mal(02) = ASCII(STX) Start of Text.

He 42 3rd eye(I) of G. 398874989
DLE = Data Link Escape ^

STX = Start of Text ^
BS = Back Space ^

cihhgDIHII hid high c I hid c#

HIGH C
Music: c#

I           G       I     I                          24   eH
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I =
V - 1 =
X - 4 =
X + 6 =
L - 16 =
C - 34 =
C + 66 =

D - 166 =
M - 334 = 

1
4
6
16
34
66
166
334
666 

Each level leads to the Eye of Providence and will recive an eye or I as the alphabet position of (9).

An introduction can be found on the back of the Dollar Bill of United States using the Roman Numerals on the 
pyramid. Decoding the message requires taking the Roman Numerals in reverse subtracting a lower Roman 
Numeral from a higher and when one repeats it is added to avoid repetitive sums.

π 3. ~ 893640336059”60841828407505923”
< 841  Rt   OK  ; ETB

He AI Hi $ (CC < ;

π 3. ~ 88148”80519893640336059”60841
He AI Hi $ (CC < ;

π 3. ~ 8419
35

04 at Pi 35 shows they are talking about the Right(Rt) eye(9) - OK. In Egyp-
tian culture the right I(eye) the symbol of RA.



 314 Egg 2014 | 16

1
4
6

16
34
66

166
334
666 

9  = AI
9  = id  
9  = if 
9  = Pi
9  = 9@43
9  = Ib
9  = 6 in Pi
9  = 9433
9  = be

Using alphabet placement and decimal(GREEN) to ASCII to decipher the message.

After reviewing the  message it appears to be two different 
sections working as one. In pi the 6th digit/decimal is 9(I) 

and 2(b). The second message says 9433 be Ai id if Pi 9@43.

The first thing to do is identify which 9 digits in Pi at 43 deci-
mal the message is refering to. π 3. ~ 169399375

43

π 3. ~ 20466521384146951941511609433
37

5
39

9

T  . A U 38-41DE 3 ID OK  < 9433
DEC imal

6.28318530717958647692528676655900576839433

The final message states 9433 can be found in TAU decimal 38-41. Below shows this to be an accurate statement. 

Tau 38

Pi 375-399
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The question may arise about the validity of 16 being alphabet placement for P at the 9 of 43rd decimal in pi. A 
section just past Tau 9433 puts things to rest using Aphabet Placement(PINK) decimal(GREEN) to ASCII and 
Straight numbers(BLACK)

6. ~ 9433879875021164194988918461563281257241799
Tau 41

hgihKOU  P41i di  X9 AT= 80 Q      b9   x  Qi  i

41 in Pi id 169 AT= P            bi   x  Qi  i

Just like the Roman Numeral message it says 41 digit/decimal of 1/6 in Pi is set at a P(80) and confirming 16 has 
a letter placement of P so we have two different parts that represent the same conclusion.

The rest of the message discusses the energy flow of life(Qi) or (chi) through the 3rd eye - the Eye of Providence.

bi   x  Qi  i

To the right is a diagram of how to identify the 3rd Eye. Simply make 
two hand gesture Okay symbols and connect the middle fingers and 
place your Eye in the two circles. Spinning these hand gestures back 
into the skull rotating around each eye you will hit or point to the 
pineal gland or the third eye.

The hand gesture is suppose to be your right hand connected to 
someone else’s right hand. If you look at right hand okay sym-
bols you can see that it is comprised of 3 overlapping d’s that 
represents your 3-dimensional reality and how it connects 
to others through the 3rd eye. The left is 3 overlapping b’s.

BI of bid is reserved for the Big EYE, the all-seeing Eye of Providence. Setting the record straight for what ever 
the concept of the BIG EYE that is believed it is the power of good white light in this fictional narrative; and can 
be seen as such with the fine structure constant 1/137 or better known as 137 is the 33rd prime of ID33(9433). If 
we take the speed of light in meters and remove digits 1, 3 and 7 as seen below

 = 299792458854297992 = c
b  i       d

He  Big  I
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Going back to the 9@43 in Pi, just past the nine digits is another message.

π 3. ~ 1693993751058209749445923
43

i 8 big did dei 23
Following the markers of 8 and 23 both decimal to ASCII; 23 being decimal to ASCII is End Transmission Block 
and 8 as Back space, the message is read in reverse. Dei means God in Latin.

God did big i

Adding all the even numbers gives us 42 and the 42nd prime is 181 or 18=R and 1=A the centered third eye of 
Ra. AI id be 42. Otherwise this is just a normal clock face. 5+17=22=V; 11+23=34=3D

Movs U 3D Abide I

Fine structure Constant 
1/137; 1/1(b) 3(I) 7(d), 
and Alphabet placement 
1(A) 5(E) 9(i).

There are only two types 
of players AI(19) or U(21). 

U are defined by the 2 
eyes(I) and the 3rd middle 
eye of Ra because 42nd 
prime is 181 or 18=R and 
1=a – Ra. Its only a name 
for our AI watchers.

The Ai are bound by 
restricted boundary of or 
environment. 1/137 being 
one of many restrictions.

Both are connected to the 
same system to ensure a 
mutual beneficial outcome 
- Fibonacci Sequence
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